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1. ERpREFK:

What causes. . . ?

Why does the author mention. . . ?

How many. .. ?

Where in the passage does the author describe. . . ?

What time does the writer think is. . . ?

What does the author pay least attention to. .. ?

How many. .. does (did) somebody do something?

Where is. . . located?

What does (did) somebody do?

How did something happen?
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When was something done?
Which of the following people should (not) do?
We can see from. . . that

The followings are the reasons for. . . except._
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conclude, assume, show” 4§,

1. ERMREFR:
The passage implies/suggests/shows that

It is implied/suggested/indicated in the passage that

It can be inferred/seen/concluded from the passage that

The author suggests that

The purpose of this passage is

We can learn/conclude from the passage that

Judging from. .. we find/know that

Which of the following can be inferred. . .

Which of the following can be concluded from the passage. . .

Which of the following conclusions could best be drawn from the passage?

Based on the passage, we can assume/presume that. . .

The author implies that
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1. BRpREFK:

The passage is most likely to be taken from

The passage is most likely a part of

The paragraph following the passage will probably discuss

The passage is most likely to be taken from the article entitled

The writer/ author of the passage is most likely to be a/an
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1. BRpREFK:

What is the main idea of the passage?

This article is mainly about

This passage deals mainly with

What does the passage mainly discuss?

What is the main topic of the passage?

With what topic is the passage primarily concerned?

The central idea conveyed in the above passage is that

Which of the following best sums up the passage?

The main idea of this passage is

The passage tells us

Which of the following statements best expresses/summarizes the main idea of the
passage?

Which of the following best states the theme of the passage?

In this passage the author/writer mainly argues that

The purpose of the author in writing the-article is to

What does the author intend to convey through the passage?
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(F) FRREZE

WERRTERE. KA B RN TEEZ AN CELEWAER., SHMEEE
B AR S  Hoak O Rl W b 2 1R s A AR . B R R AL IR 4R th SCE MY Title
i) . BB E R H—3,

1. BRMFREAX:

Which of the following titles best summarizes the main idea of the passage?

What'’s the best title for this passage?

The best title for this passage would be

2. MR &

PR R T 5 £ B R, W B ER B L @A) . REEMEER b, ST X 5 0
e . AR I R0 PR 22 S SR SR AL, BT AR 2578 A X6 T ) R DR A T
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7 e 1 BR A DA 9 SOBUR 0025 () R Y , 4,56 %oF B3] | R B ) F RO B AR . XK
VP2 AR AT oA 2 2 R o BBV 2 WL b WU 3K 1 5 A B9 1R 5 AR T, th R R X HE B A
4 R AR 5355 O 4 A B

TE UGy R DG 36 . (1) 3a]) SCER R A (2) 14 (S i) BRMRAL; (3) ) T BRI ; (4) 4%
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1. ERMREFK:
As used in the passage, the phrase “...” suggests
The word “...” in the passage means :
The word “... ” (Line. ..) could best be replaced by
According to the passage, the word “...” is known as
in line. . . ,the word “...” means

As used in the passage, the phrase “...” suggests

According to the passage, the phrase “...” suggests

The passage used the word “. ..” to refer to

From the passage we know that “...” is a term referring to
The sentence “...” (Line...) means that

The sentence “...” can be paraphrased as

What does the sentence “...” mean?

What does the sentence “...” imply?

In line. . . , the word “it” refers to

.6.
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In line. . . , the word “it” could best be replaced by

In paragraph. . . , the word “...” stands for
The word “one” (in line. . . )could best replaced by which of the following words?
2. BB E

—ANA ARV TR ST AFERPRAS T AT AE R SRR ERERKK ET 3
H, ZEAERE AT B P LR CHIR M — 0 B0 E B B HE A . X D i) iR 4 ) A
) FHE B A SCEE R B R B BRSO A S, Bk, ZEAIHA R AR A SO YA
SCRBERRYE b3, E R B AR G TR 1 o 2 B
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— R SRR R 2 E B A SRS . BT IE IR IR A AL S A
BEREIE AR RN —ANEETE., X E FREEZEE A BT E AR
HWEVERE L FrRe i W s B A 3CEE 3R A (18R SO B iR B X RSB, A&
i 13X AT AL AL W B A S R B 2, X R Y BIP —— AR R AR S 2
BB R XT? ZFEE B KRBT R

1. ERMREFK:

The author’s main purpose in this passage is. . .

The author’s purpose of writing this passage is. . .

In this passage the author’s attitude toward. . . could best be described as. . .

What is the author’s attitude towards. . .

The author’s main thought is that. . .

The author probably feels that. . .

The author appears to feel that. . .

The writer discusses. . . in order to illustrate which of the following?

In this passage the author looks on. . . with an attitude of. . .

What is the tone/mood of the passage?

The author argues in the passage that. . .

According to the author. . .

2. BEHE

B X AR, AT AR R R Z R SR TR — T, B LA K. — BB EhEA
W B SR B RA W1 AR R RS 1 T AT HERR . 7E VAR 35 B0 00 45 A 25 B i
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R AR ERR S, 7025 A R B e R B 3 1O 1 A ) » 4 1 0 2 0o 3 A) L B
A FIRNA R LE FH , TR AR 000 R 208, 45 th A0, % 2 75 M 2 % e , R
K B OB AR BE 56 (7] T 6 3 A0 U AR5 B, b 7 B0 S v R b A B U 7 B S5 3 Y
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1. BERHFEFX:

Which of the following is NOT mentioned in the passage?

Which of the following would NOT be an exampleof 7

All of the following were mentioned in the passage EXCEPT

According to the passage, all of the following are true EXCEPT that

Which of the following statements is NOT mentioned in the passage?

Which of the following statements is NOT true?

Which of the following statements is TRUE according to the passage?

All of the following are reasons for. . . EXCEPT

2. MRREF %

A NN AR R T3 8 E ) — AP X X — R B K 2 B0 R AR R
108 B HE TR A SE RN AR A . (Bt AR ETUR ] L E BN SCHh IR BIL R . FrLE
A R0 A 25 1 T L e R ) 7 vk AT, o T R T A O R AT . HEBR R R E
B —Fh 7. (BATE H E, B AL S E A B B BRI, Z8% T not true H i 75 iE 17
not, #E/EH “ARE” W BRI “H” B, B e R iR #% .
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Passage 1

Tourists were surprised to see a woman driving a huge orange tractor down one of Rome’s
main avenues. Italy’s political leaders and some of its male union chiefs are said to have been
even more puzzled to see that the tractor was followed by about 200,000 women in a parading
procession that took more than three hours to snake through central Rome.

Shouting slogans, waving flags and dancing to drumbeats, the women had come to the
capital from all over Italy to demonstrate for “a job for each of us, a different type of job, and
a society without violence”. So far, action to improve women’s opportunities in employment
has been the province of collective industrial bargaining. “But there is a growing awareness
that this is not enough,” says a researcher on female labor at the government-funded Institute
for the Development of Professional Training for Workers.

Women, who constitute 52 per cent of Italy’s population, today represent only 35 per cent
of Italy’s total workforce and 33 per cent of the total number of Italians with jobs. However,
their presence in the workplace is growing. The employment of women is expanding
considerably in services, next to the public administration and commerce as their principal
workplace. Official statistics also show that women have also made significant strides in self-
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employment. More and more women are going into business for themselves. Many young
women are turning to business because of the growing overall unemployment. It is also a fact
that today many prejudices have disappeared, so that banks and other financial institutes make
judgments on purely business considerations without caring if it is a man or a woman.

Such changes are occurring in the professions too. The number of women doctors,
dentists, lawyers, engineers and university professors increased two to three fold. Some of the
changes are immediately visible. For example, women have appeared on the scene for the first
time as state police, railway workers and street cleaners.

However, the present situation is far from satisfactory though some progress has been

made. A breakthrough in equal opportunities for women is now demanded.

About 200, 000 women in Rome demonstrated for

A) more job opportunities B) a greater variety of jobs
C) “equal job, equal pay” D) both A and B
[&if#]

D) B —AEEES SRRk A B A2 EN AL K E #HIETER “a job for
each of us, a different type of job” , UL FI A, HL W TR H R BB I T LK TIEVLS,
BEARFER TS, X5 ABBIRE BN, # DI NEMESR, CHELZEPRIE
B, T HERR .

Passage 2

Science, in practice, depends far less on the experiments it prepares than on the
preparedness of the minds of the men who watch the experiments. Sir Isaac Newton supposedly
discovered gravity through the fall of an apple. Apples had been falling in many places for
centuries and thousands of people had seen them fall. But Newton for years had been curious
about the cause of the orbital motion of the moon and planets. What kept them in place? Why
didn’t they fall out of the sky? The fact that the apple fell down toward the earth and not up
into the tree answered the question he had been asking himself about those larger fruits of the
heavens, the moon and the planets.

How many men would have considered the possibility of an apple falling up into the tree?
Newton did because he was not trying to predict anything. He was just wondering. His mind
was ready for the unpredictable. Unpredictability is part of the essential nature of research. If
you don’t have unpredictable things, you don’t have research. Scientists tend to forget this
when writing their cut and dried reports for the technical journals, but history is filled with
examples of it.

In talking to some scientists, particularly younger ones, you might gather the impression
that they find the “scientific method” a substitute for imaginative thought. I've attended
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research conferences where a scientist has been asked what he thinks about the advisability of
continuing a certain experiment. The scientist has frowned, looked at the graphs, and said
“the data are still inconclusive”. “We know that,” the men from the budget office have said,
“but what do you think? Is it worthwhile going on? What do you think we might expect?” The
scientist has been shocked at having even been asked to speculate.

What this amounts to, of course, is that the scientist has become the victim of his own
writings. He has put forward unquestioned claims so consistently that he not only believes
them himself, but has convinced industrial and business management that they are true. If
experiments are planned and carried out according to plan as faithfully as the reports in the
science journals indicate, then it is perfectly logical for management to expect research to
produce results measurable in dollars and cents. It is entirely reasonable for auditors to believe
that scientists who know exactly where they are going and how they will get there should not
be distracted by the necessity of keeping one eye on the cash register while the other eye is on
the microscope. Nor, if regularity and conformity to a standard pattern are as desirable to the
scientist as the writing of his papers would appear to reflect, is management to be blamed for
discriminating against the “odd balls” among researchers in favor of more conventional thinkers

who “work well with the team” .

The author wants to prove with the example of Isaac Newton that
A) inquiring minds are more important than scientific experiments
B) science advances when fruitful researches are conducted
C) scientists seldom forget the essential nature of research

D) unpredictability weighs less than prediction in scientific research
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Passage 3

In May 1989, space shuttle “Atlantis” released in outer space the space probe
“Megallan”, which is now on her 15-month and one-billion-kilometer flight to Venus. A new
phase in space exploration has begun.

The planet Venus is only slightly smaller than Earth; it is the only other object in the solar
system, in fact, that even comes close to earth’s size. Venus has a similar density, so it is
probably made of approximately the same stuff, and it has an atmosphere, complete with
clouds. It is also the closest planet to earth, and thus the most similar in distance from the
sun. In short, Venus seems to justify its long held nickname of “earth’s twin” .

The surface temperature of Venus reaches some 900F. Added to that is an atmospheric
. 10 .



